(20255E9 A 28 /M6 H2[@) [ £k ] BHERERER - ZENERE
25 T A HTEB 5 Y 2 T D

FREES |ka|RE EilEES BRR|EEE MEES |Ra|RE R A BRER|EEE MEES |ES|EE EilEES BRE(EER FREES |Ra|RE R4 BRR|EER
1| M- 10 | B1 |#3REHL 214 |29 1 | g 6 | Bl |EEOXEERSES (707 (48 1 |ME | weg| 3 | Bl |ROEE 864 [25 1|fE| 1 |5 | A2 |Z=HW Th) ORE 10.2 |[16.8
1|f=|ms%| 18 | B2 |XEBIZDW T35 (712 |2.2 1|mEe 7 |1 | A2 |hUEERY 771  |2.0 1 |ME wag| 2 | Bl |ROMEHE 806 [25 1 |ME2|me%| 4 | Bl |0 FEBHZDOLT [80.7 (34
1|f=|m=%| 12 | B2 |XEBIZDWVC-5#B8 (882 |2.2 1|mmE2 4 |1 | A2 |hUEERY 928 |15 1 |MmE2\mweg| 3 | B1 | X HTIEFEDH 36.1 |134 1| M2 ma%| 2 | Bl |FOfOEBHZDOLNT (843 (34
1= mazg( 12 | C2 |[#x-siB%E xzA>1T|730 (04 1|@8E2 |1 | A2 | hUBERY 939 |16 1 |FfE2| =% 2 | B1 [R HTIFE2% 349 |134 1 |RagE3 5 | A2 |BRE 352 (8.7
1 |B= |maz%| 12 | C2 [#rx-#18% x&BIz>1 T (628 (0.4 1|M&E2 T |1 | A2 [HUEERY 834 |15 1 |M#E2\me%| 3 | Bl |2 HTIEFEZH 440 |134 1 R4 6 | Bl |#FilE1 42—yt [543 |38
1| B=|me% 6 | C2 |1EX -2 %DHE |806 (04 1|@82 A |1 | A2 |hUBERY 903 |1.9 1 |FfE2| =% 2 | Bl [ HTIFES% 423 |134 1 |Ri%Es|mE%| 9 | C1 |[BFY—ILOENSIT|804 (7.6
1 |B=|me%| 6 | C2 |[EX-F2B%DBAE(654 |04 1|82 A |1 | A2 |hUBERY 90.1 |21 1|@=E3 Y | 3 | Bl |fEEOBLOGLEDNE|769 |10.2 1 |RiEs| k=% 6 | C1 |BFY—ILOFENSIT|768 (7.6
1| M= |me% 6 | C2 |1EX-FEIREMAHNE |701 (04 1M £ |1 | A2 |hUEERY 91.7 |24 1|M=E3 4 | 3 | Bl |fAEOBLEOAEDE|71.2 104 AEEL 5 | B1 |ZEiRE 522 |09
1 |M=|me%| 6 | C2 |[EX-FEIENDBEARE|51.1 |04 1|mmE2 & |1 | A2 |hUEERY 90.6 [2.6 1 |FE@4|(1)F| 2 | B2 [RDOZEHE 653 |17.8 2 M| ma%| 6 | B2 [BAO:Ek 69.3 [4.7
1 B=mtz| 12 | 02 |rx-24omsrroxE% (430 (04 1B & | 1 | A2 |DYEERY 76.2 |31 1 |m&E4 (1)Y| 2 | B2 |RDZER 59.1 18.7 2 |RRE2|ma%| 2 | B2 [EAROiED 664 4.7

1 |FIEs|mE%| 4 | B2 [9THhYIh3ER 209 |345 1 |MEs(1)F| 2 | B2 |RDZEH 202 |31.7 2 M3 ma%| 6 | C2 [EX-FIRENANSE 803 (34

1 |FIEs| =% 2 | B2 [9THhYIhEER 248 |345 1 |MEs (D] 2 | B2 |RDZEHE 466 |[26.6 2 |MfEs | mEE| 6 | C2 |EX-FIEEDBTRZE([67.7 |34

BEED 6 | Bl |EEOXETERSES (274 (402 1 |FE@4|(1)F] 2 | B2 [RDOZEHE 420 |31.3 2 |3 mE%E| 6 | C2 [MEX-F2B%DNE 1841 |34

1 |5\ mE%| 6 | B2 |[1000M (2454 UER |8.4 54.2 1 |mEEs (1)=| 2 | B2 |[RDZEH 19.0 (420 2 |FfE3|mE%E| 6 | C2 [EX-F2Ek %5 DBFRZE|69.2 |34

1 |F%Es| =t%| 2 | B2 [1000MI(ZAS40VER (114 |54.2 1 |FE%E4| (2) | 2 | B2 [#RIBICABLAVNRE(127 (433 2 |MRE3 | mEE| 6 | C2 |1EXX-FEIEENAE (828 |34

2 || (1) 1] 4 | A2 [dLBEDEIS 52.6 15.6 1 |m@Es| (1) | 5 | B2 [P &E/hELEE 10.9 455 2 || mE%E 6 | C2 |[1E-HEIREDBALRE |55.5 3.4

2 @1 (1) 2] 4 | A2 [BAEADEIS 505 |16.7 1 |m@s5| (2) | 5 | B2 [Q &mE/DSULVEE 125 |48.6 2 R3] 14 | C2 [rx-etomsmroexrns 498 (34

2 |FEE| (2) | 2 | Bl [ZiBITDONWT-IT15 75.3 5.7 1 |f@s5 (2) | 5 | B2 [Q ®REKRELVE 16.2 48.3

2 |B%E1 (2) | 6 | B1 |THBICDLT-REZE |526 [17.0 2 | 3 | A2 | & 79.1 0.7

2 B (2) | 2 | B1 |TBIcoLWT-RKZE |53.2 [17.0 2 &2 1 | 3 | A2 [ KDES 410 |194

2 |ffE2|ma%| 6 | C1 [BEEMNEZASFEE (579 25.1 2 |ME2 2 3 | A2 |Z=H S 75.6 25

2 |FOfE2| %] 2 | C1 [BEEMNEZLRE [56.1 25.1 2 |82 3 3 | A2 | TS RFYODIESE 61.7 5.5

J|mE| (1) | 3 | A2 |EBOEX 63.2 10.8 2 |3\ ma%| 3 | Bl |LkEZEFE-1-5HA 14 14.6

3 |m=E| (2) [ 3 | A2 [fRICDLVT 59.9 1100 2 |mmEs| x| 1 | Bl |[lbEEFE 1= 6.6 14.6

3 |RA%E2| (1)1| 2 | A2 |Z=HICABEE 703 |16.4 AEED 3 | A2 |RrLESETERVER (444 |49

3 |RAfE2| (1)2| 2 | A2 |Z=HICABEE 656 |18.9 2 |RgEs| 1 | 3 | A2 |KIBRIZDOLNT 425 |35

3 |FE2| (1)3] 2 | A2 |E=HRICABEE 71.6 19.5 2 |[HREs5| 2 3 | A2 | KBRDEE 171 345

3 |FfE2| (1] 2 | A2 [ARBIEDIKEE 466 [13.9 2 |f%Es| 3 | 4 | Bl [Rrusptaceskak (277 114

3 |Ff@2| (2)1] 2 | A2 [BRIBIEDIKEE 213 |149 2 |f%6 1 | 3 | B2 |EHHrhoHEAENSGIE|252 [11.0

3 |RIRE2| (1] 2 | A2 [CHRIBIEDIREE 41.6 145 2 |[ERE6| 2 4 | B1 |BRRDIGH 36.2 24.3

3 |FfE2| ()1] 2 | A2 [DERIBIEDIKEE 375 |14.7 2 |BgE7 | mE%| 4 | B2 |FSRAFYIDEE 764 |16.2

3 M2 (2)2| 3 | B1 |U57MEE-REE 1646 [25.1 2 |mmEr |\ wz| 2 | B2 |[TS5AFVIDBRE 749 [16.2

3 |ME2| ()2 1 | Bl |U57mE=E-BX%E 1603 [25.1 2 |mgEs|mEs| 6 | B2 |[F3RFuooEAEMEAR (649 (251

3 |83 (1) [ 3 | A2 |F&ICDWLvT 611 |17.9 2 |mgEs|wxx| 2 | B2 |[F3xFuvooEAMEAR (694 [25.1

3 |m=Es| (2) | 2 | Bl |ARfE 34.3 29.5

3 R3] (2) | 2 | B1 [BIRUX 58.1 |285

3 |fE3| (3) | 2 | B2 [o5LmmimEizonT-®IR[18.8  [43.5

3 |mms 3) | 4 | B2 [o5cmommonc-naz 6.1 64.4

3 |R%E3| (3) | 2 | B2 |osLEo#m@EIzo>nT- % |8.6 64.4




